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Instructions / Horessden :

1. Answer all questions.

©) VB) VDO DITFHOD P oIVBD

2. Answers are to be marked on the OMR sheet supplied. Every question is provided with four
answers. Only one of these answers is correct. Correct answer is to be marked in one of the circles (A
or B or C or D) by filling the circle with black ball point pen.

DAPEHa0e0 OMR DES0 &S° 18 05308 . RO HF) & TP VITEPHIVL FIWAEDD . DB’ 28
RDBEEDB0 PG DO ADG . D8 AD VITrEHAID (A/B/C/D) deodor &d) e’ooa"lé‘ N3]

25 Jrooés 0008 .

3. The OMR sheet should not be folded or crushed.

OMR D¢ 080 80660 Sy FE 39D Sabd DEp.

4. Question numbers 1 to 20 carry one mark each and question numbers 21 to 45 carry two marks
each. Question numbers 46 to 55 carry three marks each.

1 &00d 20 56 tfo DI 0H , PO PIY O 1 Ardd), . 21 Mod 45 HEH o VI VD PO VI 2

Sord)en . 46 Ao 55 HEH Ho PI) D PB B¥) D 3 Srd)en.

5. No negative marking for the wrong answers.



é:ab DAPTID VD éu"dobw é(}’ o9 ED).

6. Cell phones / calculators and slide rules are not permitted in to the examination hall.

D8 F S8 PRy, 2O TFeE en (Calculators ) 8ok Eren B0 &) .

7. Please do not write anything (name or hall ticket number) on the question paper. Two blank
sheets are added at the end of the question paper. These sheets can be used for doing rough work.
No additional sheets for rough work will be given.

Q) PGB0 P M DATEERD DB P M A (Do / 386 Sorth ) SO HEY. PT°) DGIW
DIES° Foch By SPHBIWED ot DADD. 6D D) & SABIWVY P BKOED Jy . 6D HE) Fo1w

OEDIVM 3 SeAGVLD RO WG -

8. Make sure that you fill the details like name, hall ticket number, category etc. before start of
answering of the question paper on the OMR sheet.

Q) DGIOIH DITEHHVen °R o, OMR DB I0S® D, Qo Hdokw R8s
DdHGB0en RrBo Sodk.
Q-

1. Thesumof2° 3%°and 4°is:

2°,3%, 4% © 2w dos?

2. 360 can be written as:
360 &0 & $ob Do f§ GBI
(A)2x3x5 (B) 2°x 3°x5 (C)8x4x5 (D) 32 x2°x 5!
3. The HCF of 12 and 28 is:
12 208050 28 © . . (1 doth?
(A) 2 (B)3 C)4 (D) 36
4. The square root of 0.04 is:

0.04 & OF Qe Sos?

(A) 0.002 (B) 0.02 (C) 0.2 (D) 0.16



5. A person took a loan of Rs 1500 from his employer for 3 months at 12% per annum simple
interest. The amount he has to return is:

28 H53 1500 crroposn Sure dow ERan 12 % 9¢ P SRo0o) , 0 3ot HOD G Jod

o

?
(A)Rs 45 (B) Rs 1500 (C) Rs 1545 (D) Rs 1455
6. If the area of a circle is 817 square feet, what is its circumference in feet?

28 By g PFrogdw 81 TT w50 wcrben @d, e 9B ey Sod (9¢t005° ) doch?

(A)9 (B) 18 @9 (D)1811

7. In a given school, there 240 boys and 260 girls. What is the ratio of the number of girls to the
number of boys?

208 FrsTro &S° 240 erendd 208030 260 erdgen &) , @ DEo S°D erdEe SBARL erend Dy does ?

(A) 1:1 (B) 13:12 (C) 12:13 (D) 240:260
8. A man purchased a bundle of cloth, with a list price of Rs 20000, and a sales tax of 10%
on it. He paid Rs 25000 to the shopkeeper. The money he got back was :
08 B8 28 o et 20000 drdrode £, od P 10 % a8 D0 . s ) oasrdd
25000 sraroen B3YodS |, 9sds 8o SN $3°&§.Dé Doeh ?
(A) Rs 22000 (B) Rs 15000 (C) Rs 3000 (D) Rs 2000
9. The area of acircle is 314 cm2. If = 3.14, then its diameter is :

w8 By Fogdw 314 Bes) 2086 e. Tt Dewsd 3.14 0o , &8 Hyeh TgRo0 Dot ?

(A) 100 cm (B) 50 cm (C)20cm (D) 10 cm
10. What fraction of 1 hour is 50 minutes?

208 o) &5° 50 Donswen as; Hoehd ?

A. 1 /50 B. 6/5 C. 5/6 D. 50/1

11. N is one of the numbers below. N is such that when multiplied by 0.75 gives 1. Which number is
equal to N?

& 3005 ADND Doy © S g NDewsdd . N 0.75 & 3DNoDD DBy Dewd 1. N Dewsd ok ?

A)11/2 B)11/3 C)5/3 D) 3/2



12.1fsin@ + cos 6 =2 cos 6, the value of tan 6 is :Type equation here.

sin@ + cos B=2cos B, @5 tan B Dewd Joss ?Type equation here.
(A) 2 (B)1 ©2-1 (D)2+1
13. Simplify ;?—

(V 3125)/(V 343) & : 2ardy 8602000

(A) (25 V15 /27 ) (B)(3125/ 343) (C) (3125X 343) (D) (343/3125)
14. Value of kif 64 ~k = 4.

64+k=4235,Kk dend dod ?

(A)4 (B) 8 (C) 16 (D) 32
15. Whatisxifx+2y=10andy = 3?

X+2y=10 08030 Y =3 @, X dewd Jodd ?

(A)6 (B)3 ©) 4 D)7

16. A machine fills 150 bottles of water every 8 minutes. How many minutes it takes this machine to
fill 675 bottles?

28 apoganw B 8 JaNdwod 150 2F0aw Do . 675 2J0R0 DoErdS & 0oFIDD Y
BBV DEDSB0E?
(A) 24 (B) 36 (C) 44 (D) 48

17. A person walking at a speed of 4.8 kilometres an hour can cover how many meters in one
minute?

(lotag> 4.8 3 oeagd  Drisdw & DS 28 B8 |, 208 DdRBw & IV Dot DS ?

(A) 100 (B) 120 (C) 80 (D) 160

18. The perimeter of square A is 3 times the perimeter of square B. What is the ratio of the area of
square A to the area of square B.

A 93 SB0GRH0 033056 ri)éeas) Sod, B e90 90605005 3 Sty 2R A 208030 B ssausin © Q?“vzgaﬁ.u
[3) :)IQQG;? doeh ?
(A) 1:3 (8) 3.1 (€) 1:9 (D) 9:1

19. At a book stall, a discount of x% was allowed on each book. A book was purchased by



a customer for Rs y, its marked price was :

28 DYSO WSEIN & VA DYEID P VW GG &S X % Tand ADND , EFOTPED w8 DRYEI0
DD Y ErDrosden BYod |, €3 DRYEHD WL GG Jodd ?

(A)Rs (100y)/(100-x)  (B)Rs (100y)/ (100 +x) (C)Rs (100y) / x (D) Rs. xy

20. A wholesaler allows a discount of 20% on the list price to a retailer. The retailer sells

at 8% discount on the list price. The profit percent of the retailer is :

28 E5°50 DO B DBHRL e 6 P 20 % 80,00 DYS HFDVL VBV . &8 VDD §J) DY
DGO , 0 6 2 8 % B3N 0D A X VSIS SN &°Es TBAW dod ?

(A) 20% (B) 15% (C) 12% (D) 8%

21. A small square of side 5 cm. is cut from the corner of a rectangle with a width of 10 centimetres
and length of 20 centimetres. What is the area of the rectangle left in cm*?

5 20B00608 202550 (0 2,8 SBCRI0 &, 10 DoBDutog Dcseny 208050 20 Doty T do &Y

SBGRAD H0d EP00DD, DD BY BBUCRBD D T Vg0 (IEGRD VoY) &° Joss ?

(A) 25 (B) 225 (C) 200 (D) 175

22. A rectangle A with length 20 centimetres and width 10 centimetres is similar to another
rectangle B whose length is 30 centimetres. Find the area of rectangle B.

10 oBdoerg Deseny 0003w 20 DoBrg T do &Y Susaw (A ) , 08 dHd & &) 30
208exg T (o @08 BY 6B X0 (B) % G & . & Y ARAW (B) g 7roge dod ?
(A) 250 cm2 (B) 450 cm2 (C) 200 cm2 (D) 175 cm?2

23. 1/4 =7 (indicate in % / % &° @enspaw )

A. 4% B. 1% C. 0.25% D. 25%

24. 0.05="? (indicate in % / % &° @enspan )

A. 50% B. 500% C. 5% D. 0.5%
25. If 10% of a number is 7, what is 80% of the number?
A. 70 B. 56 C. 5600 D. 0.7

26. Which is the greatest?



& 800 D & DGO 6 ?

A. 90% of 10 B. 6% of 1000 C. 5% of 1400 D. 3% of 2500

217. George bought a car at Rs.5000 and sold it at Rs.5500. What benefit, in percent, did he
make?

&P 28 520 D 5000 oo £, 5500 draraheos e.o:)oée‘é , 0SS &55)‘)«‘6 g TS Jodh ?

A. 500% B. 10% C. 5000% D. 5%
28. If 20% of n is equal to 40, what is n?

N aBoog); 20 % Dewnd 40 25 , N densd doed ?

A. 200 B. 2000 C. 800 D. 80
29. Which two fractions are not equivalent?

& 800 D) B0 © &S° D Tochd VIPHIW T

A. 1/2and 2/4  B. 4/3and8/6  C. 1/5and 3/15 D. 2/3 and 8/9
30. Arrange from least to greatest: 8/9, 17/18 ,2/3,7/6.

DB B H 08 LD DO groswdw: 8/9,17/18,2/3,7/6 .

A. 8/9,17/18,2/3,7/6 B. 2/3,8/9,17/18,7/6
C. 8/9,2/3,17/18 ,7/6 D. 2/3,7/6,8/9,17/18
31. Which fraction is closest to 1? .

& ebéibwvéﬁ 2618 ads S* &odd ?

A. 10/11 B. 11/10 C. 9/11 D. -9/10
32. 5/2+2/5=
Al B. 4/25 C. 25 D. 6%

33. To have F + 25/7 = 4, F must be equal to

F+25/7=4¢&°F Dend dod ?

A 1 B. 2 C. 12/7 D. 2 2/7
34. The total surface area of a closed right circular cylinder of radius 3.5 m and height

7mis:



ot PO B BV W8 K DI AV, 053*’33» 3.5 Qoeach 208050 B 7 oo D , €8 AT DA
o)) E00S DTV Do ?

(A) 77 m2 (B) 154 m2 (C) 231 m2 (D) 308 m2

35.Iftan 8 =%, then Sin B is:

tan 6=, @5 ,SinB =7?

(A) 4/5 (B)3/5 ©) 4/3 (D) 5/4
36. Calculate the circumference of a circular field whose radius is 5 meters (in meters)

By SBaw S &) 2 Todw dog), THPEa0 5 Do . & Todn dy), Sty Sosy Do ?

A) 10 B)10 TT C) 15 D) 15T

37. The rectangular playground of a school is three times as long as it is wide. The area of the
playground is 75 square meters. What is the perimeter of the playground?

08 B SAOFTT 6 & &) W QOB B0 T T DEQND DU BEY . &2 RO D G0
75 S6565) ek . €5 et RO 0t 0 Joes?
A)75m B) 40 m C) 60 m D) 750 m
38.  (2x-6)/2=?
A) (x-3) B) (x+3) C) (6x-2) D) (2x-6)
39. If—x =6, what is the value of x?

X =6 25, X Dend dogd ?

A) 6x B) -6x C) 6 D) -6
40.ifx=4and y= 5, what is the value of (x* —y*)
X=4 200050 Y =525, (X2 -Y2) Dewd dod ?
A) 25 B) -25 C)9 D) -9
41. The volume of a cube is 64000 cubic centimetres. What is the surface area of the cube?

208 00D AL DO DBBIERNAD 64000 085 208 Deadd . &8 DOJY €00 B DFOLR0 A WEED

208) Doerd ?

A) 400 B) 1600 C) 9600 D) 16000



42. The perimeter of an equilateral triangle is equal to 210 cm. What is the length of one side of
this triangle?

208 DB0ETIN GE02RY Y 3210 2083 i’beogp. s Qe 208 Zed V) Jod ?

A) 21cm B.42cm C) 70cm D) 140 cm

43. In a bag of small balls 1/4 are green, 1/8 are blue, 1/12 are yellow and the remaining 26
white. How many balls are blue?

28 %00 & 000’ 1/4 5 Hodto e sy, 1/8 5 ok Dersan 0003w 1/ 12 & Hocho Hdo) N
Sotd> &5° 620) D. HDD oD BYD. BY eodew 26 o, Do Gord exocoen 2 ?
A) 6 B. 12 C) 18 D) 24

44, A car is traveling 72 kilometres per hour. How many meters does the car travel in one
second?

28 S0 (otsd 72 86" otrhe D & DOyD , DEW O V) ey HakrEdocidN ?

A) 5 B. 25 C) 20 D) 15
45, Find angle x in the symmetric shape shown below.

& 300 HEANS® X Ded doh ?

122°

line of symmetry

A) 90° B. 96° C) 48° D) 180°



46. What is the area of the shaded shape.

800 DexBL AN DY G does?

40 cm
14 cm 10 cm
25 cm
12 cmy
'L"."‘l"n.l"L'L".EnﬁI[.l'ZEﬂ'lﬂ{E‘I.CD!"I'l
A) 707 cm? B) 700 cm? C) 770 cm® D) 777 cm?
47. Find the total surface area of the box open at the top.
PO BED G DY 60O SO D TV Jodh?
11 cm
9 cm
12 cm
wwnw.analyzemath.com
A) 400 cm? B) 570 cm? C) 600 cm? D)670 cm?

48. If a trench is to be dug around playground which is 20 m wide and 60 m long and if the
dimensions of the trench are such that it is 1 m wide and 1 meter deep, what is the earthwork
involved in cubic meters?

20 otag dcteny , 60 erg T ) w8 et LOBZN AT, 2,8 WD Dty BOIN 28 D S’

$0658:500%0 FDH , oS K00 DBy BEY PO HOJTFEAD IV) POV eEH?

A. 160 B. 164 C. 1360 D. 1200



49. Find the unknown angles (x and y) in the figures below.

& 806 DB S° X HO0KD Y DenDVL BLZHAL

wiww.analyzemath.com

A) 26°,64° B) 64°, 26° C) 64°,52° D)52°, 64°

50. A train traveling at 72 kmph crosses a platform in 30 seconds and a man standing on the
platform in 18 seconds. What is the length of the platform in meters?

(lotagd 72 8&5° Dotog Driw & DYDY 8 Gew P& FGo 2030 Dby S0 BB P & Fo

60) 28 02D 18 2Eoby S°0 TRDBB . &2 P & FCo TP Jocs?

A. 240 meters B. 360 meters C. 420 meters D. 600 meters

51. Three years back, a father was 24 years older than his son. At present the father is 5 times as old
as the son. How old will the son be three years from now?

QU VoDB\GOR $§850 Bod DoAY, AT DOy ET°) 24 RoDSyBDw e DSJGCD . PR B
, $0G OOBRY AT DoAY EJ°) 5 & QSJGQ - STCEIVODBNCO0 BSOS , AT OOIRDY

odd ?

A. 12 years B. 6 years C. 3 years D. 9 years
52. What is the volume of a cone (in cubic meters) which is with radius of 7m and height of 15m?
wE Foan eSEANS’ &R ShEdn g 15 e Woan T FREID T DL B, T PR
B:35°£a:00 (302D eageS® ) o ?

A 770 B. 870 C.970 D.1070

53. A car travelled 281 miles in 4 hours 41 minutes. What was the average speed of the car in
miles per hour?

28 =6 281 Doy BrEB 4 gotow 41 DAhI0S D@Qé , €3 B8 (50D D@Qé Vo0

G620 Joch ?



54.

55.

A. 40 miles B. 50 miles C. 60 miles D. 70 miles

Pump A can fill a tank of water in 3 hours. Pump B can fill the same tank in 6 hours. How long
does it take the two pumps working together to fill the tank?

2GS 00D w8 FG I3 ffotrw) &' LB Tockd 20D 6 Hotrw S°0 oD (LY. ot Hod e

€02 &8 & D Jodh DLOLBNS” VoD VY ?

A. 90 minutes B. 120 minutes C. 150 minutes D. 180 minutes
Which of these is a right angle triangles?

& 800 D &S Q Qzbedw wow S Gevadwn ?

&) B)

3.9

C)

www.analyzemath.com

A A B. B C.C D. None



